ESEEHRA—TUMSUR U BREFERSRE7CEERFABEASESRTES 43458236 (A)
T FRBER
INFERFFELT
BFA g BHH| E1 E2 E3 E4 H1 H2 | #E R T |RER| IER
WX ¥4#h  |HETC 7.0 7.0 7.0 7.0 9.8 9.7 48 | 11.733 (40283 | 1
AL B EHSASATC 7.0 7.0 7.1 7.1 10.0 10.0 1.2 10.297 (35597 | 2
FH DE EHSASATC 7.1 7.1 7.2 6.9 10.0 9.9 1.1 9.583 |34.833| 3
INFESRFRTF
BFA g BHH| E1 E2 E3 E4 H1 H2 |8 E= T |RER| NER
KiR B RENATS TC 7.3 7.2 7.3 7.0 9.9 9.9 1.7 | 11.300 |37.400 | 1
hiE % RENATS TC 7.1 7.0 7.1 6.8 9.9 10.0 16 | 10698 |36.348 | 2
#ME ME RENATS TC 6.8 6.7 6.8 6.8 100 9.9 0.8 9.472 |33822| 3
LT
BFA g BHH| E1 E2 E3 E4 H1 H2 | #E= T |RER| NER
R BE /XL ASC 6.9 7.0 7.1 7.1 95 9.4 5.8 13.225 |42575 | 1
R BE RENATS TC 6.6 6.6 7.0 7.1 8.9 9.0 5.1 13.952 [41.602 | 2
HE EXR KEFNATS TC 7.5 7.6 7.7 7.8 9.7 9.7 1.2 11.132 |37.332| 3
REA KA LAoR—KiR 3.3 3.1 3.2 35 3.9 3.7 1.6 5402 [17.302| 4
EBRAERF
BFA g BHH| E1 E2 E3 E4 H1 H2 | #Em T |RER| IER
Kk = KETC 75 7.6 8.3 7.7 9.1 9.1 5.8 14.156 |44.356 | 1
INE IR LAoR—KiR 6.8 7.0 7.6 75 9.4 9.2 5.7 14.745 (44245 | 2
=R B BHETC 6.9 6.6 7.1 6.8 9.1 9.1 52 | 14.160 [42.160 | 3
A EH LAUR—KiR 75 7.2 7.4 7.2 10.0 100 18 | 11.949 |38.349 | 4
NE #5 LAoR—KiR 7.1 7.4 7.0 7.0 95 95 18 12.576 |37.976 | 5
17wl E&F
EFA i BHH| E1 E2 E3 E4 H1 H2 |#ER T |RER| IR
TR BB £ RFREKE 7.8 74 8.7 7.9 9.3 9.2 5.7 14.556 |45.206 | 1
—BEF
BFA iR BH| El E2 E3 E4 H1 H2 | #E R T |[REER| B
JERN 2 BHETC 8.2 7.8 8.1 7.6 9.6 9.6 23 | 11.423 [39.223 | 1
WA 29z BHETC 7.2 6.8 6.6 6.2 9.8 95 13 9.289 |33.639 | 2




